-6

® 2x -4y

@ —x+T7y=13

@® 3x+2y=7

® —2x+5y=38

@ 4x+2y=6



o 3] A5



9

15

® (5,-3)

@ (-3,5)



°9

0 2] a7t (a, 2) @ ®, 4= a 9] 2k

7
3

® a=-3

0™ ™
Il I
N N

©@ ©



e
lul

3x+5y=1

@ x=1,y=2

:—1’}):2

@ x

@ x=-2,y=-1

@ x=-2y=1

®x=2y=-1



Fex, y O 2E HIZF2:3 D W], x+y 9

S

=
L=

i

w27

® 4 @ 7 © 10

@1



7. FHe ™

o

ga VTR0 g IYET g g e
ay—x=2 bx—-2y==6

H a, b ©] F& F-5kei=t.



5x—a =13
8. AU AHA oA x—y=-34 ), a9 =
2x 42y —-3a =12

Fotofet.

D L
=%



ol a+ b9

S|

0.5a-0.25b =0

telzt.

S

ge 7



O0.ax+ 0.8y =2
b
0.3x + 5y = 0.5

|

R

a9

10.

@ 11 ® 12 @ 13 ® 14

D 10



